Wartu ngsanweisu ng
Maintenance Manual

fur BERGER LAHR Auslegerachsen
for BERGER LAHR Cantilever Axis

BERGER LAHR

LM-A608KZ144

Vava

@

=, J
| -
— 23 21 1L 22
2 24 6 ‘
26 I
— ‘ - | |
o — Ll ]
@ 77777 (.
——— §< -
Allgemein General

Die Auslegerachse ist durch ihren konstruktiven Aufbau unempfindlich gegen
das Eindringen von Schmutz und Fremdteilen. Die Fihrung ist innenliegend. Alle
verwendeten Antriebs- und Fuhrungselemente sind wartungsarm.

Bei normalen Umbebungsbedingungen sollte die Zahnstange (3) monatlich
gereinigt und mit Schmierfett (z.B. Kuberplex BEM34-132 oder Schmierfett nach
DIN 51825, Kennzeichen KP HC 2 N-30) leicht befettet werden.

Schmierung

Die innenliegende  Fihrungsschiene  (13) mit den  zugehdrigen
Kugelumlaufwagen (14) werden uber die Schmiernippel (22) mit Schmierfett
versorgt. Die Schmierintervalle sind abhéngig von der Belastung,
Geschwindigkeit, Zykluszeit, Umgebung etc. Bei normalen
Umgebungsbedingungen wird empfohlen, spatestens halbjahrlich nachzufetten
(z.B. Kuberplex BEM34-132 oder Schmierfett nach DIN 51825, Kennzeichen KP
HC 2 N-30). Die Schmiernippel (22) sind auf beiden Seiten am Laufwagen (21)
frei zuganglich. Zur Nachschmierung gentigen 2-3 Hilbe aus der Fettpresse
(Kegelschmiernippel DIN71412)

Zahnstange

Grundsatzlich ist die eingesetzte Zahnstange (3) und das Ritzel (6)
wartungsarm. Sollte dennoch ein Austausch notwendig werden, so muf} die
Achse zur werksseitigen Uberholung eingeschickt werden.

Service
Bei Ersatzteilbestellungen oder Serviceanfragen geben Sie bitte die Material-
und die Auftragsnummer (siehe Typenschild ) der Linearsachse mit an.

Ersatzteile / Spare Parts List

Due to the design of the cantilever axis, it is protected against dust and foreign
particles. The guide system is internal. The utilised drive and guide elements
have low maintenance requirements.

Lubrication

The internally mounted guide rails (13) and re-circulating ball bearing carriage
(14) are lubricated with grease through grease nipples (22). The lubrication
interval depends on the load, speed, cycle time and environment conditions. For
normal ambient conditions we recommend to lubricate the carriage at the latest
after half a year (e.g. Kluberplex BEM34-132 or lubrication grease according to
DIN 51825 type KP HC 2 N-30). The grease nipples (22) are accessible from
both sides of the carriage (21). For the lubrication, we recommend 2-3 injections
with a grease gun (cone type grease nipple DIN71412).

For normal ambient conditions the rack (3) should be cleaned and lubricated with
thin grease every month (e.g. Kliberplex BEM34-132 or lubrication grease
according to DIN 51825 type KP HC 2 N-30)

Rack Replacement

The mounted rack (3) and pinion (6) requires basically low maintenance. Should,
in spite of this a rack and pinion change be necessary, the axis must be returned
to BERGER LAHR for a complete service.

Service

In case of spare part orders or service , please advise material and order
number (located on axis name plate) of the axis or the axis system.

Pos. Bezeichnung Description Liefermenge / Quantity Best.Nr. / Material No.
17 Endschalter, Kabel 5m (Standard) Limit switch, cable 5m (standard) 1 Stck / pc. 00052060002
Endschalter, Kabel 10m Limit switch, cable 10m 00052060004
Endschalter, steckbar, 3-polig, M8x1 Limit switch, with connector, 3poles, M8x1 00052060007
28 Kabeldose, 3 polig, M8x1, Kabel 5m (Standard) Connector, 3 poles, M8x1, cable 5m (standard) 1 Stck / pc. 00052060005
Kabeldose, 3 polig, M8x1, Kabel 10m, Connector, 3 poles, M8x1, cable 10m 00052060016
Berger Lahr GmbH & Co. KG e Breslauer Stral3e 7 ¢ D-77933 Lahr e http://www.berger-lahr.de 03.2005-vV02

Tel: +49 (0)7821 946-606 » Fax: +49 (0)7821 946-202 e e-mail: inffo@berger-lahr.com



	Allgemein
	General
	Schmierung
	Lubrication
	Zahnstange
	Rack Replacement
	Service
	Service
	Ersatzteile / Spare Parts List

